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Lesson 3: Operations on Polynomials

Directions: Solve each problem. SHOW YOUR STEPS!!!

1.
(=327 +5x=3)-4(5x" +2x-3) =

2
Qx> —x+7)+2(3x* +3x-2)=

3.
3(4x7 +2x45)-5(=2x" —x+4)=

(a) If your answer is
—2x* +x—11 draw l l

(a) If your answer is N (a) If your answer is the following line

—23x* —=3x+9 draw A 5x*+7x+3 draw 2 3 INSIDE each ear.

the following hair. ! g the following ears. (b) If your answer is

(b) If your answer is @ (b) If your answer is 2x2—x=35 draw Q 7

—23x* -13x+9 { ‘ 8x% +5x+3 draw C D the following curve

draw the following hair. | ' the following ears. INSIDE each ear.
4. Which polynomial 5. Which polynomial 6. Which polynomial
represents represents represents

%(—sz ~16x~4)+ 3(9x2 +12x-—%)?

(a) If your answer is
23x> +28x—7

draw the following
eyes and glasses.

(b) If your answer is
23x* +20x -2

draw the following
eyes and glasses.
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2x* +3x—-1)(3x+2)?

5x*+x+3)5x-7)?

(a) If your answer is

6x° +6x—1
draw the following nose.

(a) If your answer is

25x° - 30x* +8x-21

draw the following mouth.

(b) If your answer is

6x> +13x*+3x-2

draw the following nose.

(b) If your answer is

25x% -35x% +15x-21

draw the following mouth.
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7. Which expression is
equivalent to
2x* = x)(3x* —x+4)?

(a) If your answer is

6x° —2x* +5x° +x* —4x
draw three freckles on 0
EACH CHEEK.

(b) If your answer is
6x° +2x* +5x° +x7—4x 0%
draw three freckles on the o

8. Which expression is
equivalent to
(2x° +6x)(2x* +3x—9)?

(a) If your answer is

4x7 +6x° -18x - 12x* - 18x - 54x
draw horizontal stripes —=———
on the shirt.
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(b) If your answer is

4x" +6x° 185" +12x° +18x" - 54x
draw vertical stripes I ” ‘ ‘

9. Which expression is

equivalent to
Cx+1)(2x-1)?

(a) If your answer is

4x* —1 draw the
following lane in the
background.

(b) If your answer is
4x* —4x—1 draw

on the shirt. the following lane in e
NOSE. the background. S e
10. Which expression is 11. Which expression is 12. Which expression is
equivalent to equivalent to equivalent to

(By-2)3y+2)?

(a) If your answer is

(-3x+5)2x* - 3)?

(a) If your answer is
—6x> —15 draw THREE

2y* +5)(4y—2)?
(a) If your answer is
8y* —10 write the

SPARE

2 bowling balls in the SPARE word in the

bl .12}’ —4 draw 8 8 background. background.

TWO pins on the lz.me. (b) If your answer is (b) If your answer is

. —6x° +10x% +9x—15 8y' -4y’ +20y-10 | CTYIKE
9y -4 draw draw ONE bowling ball in write the word STRIKE

MANY pins on the lane. the background. in the background.




